Answers to Classwork Quadratic Functions

(0,0)

Vertex=

Axis of Symmetry= X =0

. Range= (—x0,0]

61 Vertex= (2,0)
s
ol
; Axis of Symmetry= X =2
al
6 s -‘4 I 4 ; 6 Range= (—OO,O]
a2
3+
41
_;/
3. f(X)=-2(x+3)°+6
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4. f(x) =%(x+5)2—2
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Vertex=  (-5,-2)

Axis of Symmetry= X=-5

Range= [—2,0)

5. f(X)=x*+2x-5
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Standard form: f(Xx)=(x+1)°-6

Vertex=  (—1,—6)

X-Intercept(s)= Xx=-1=+ \/6

6. f(x)=2x*-16x+32
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Standard form: f(X) =2(x—4)?

Vertex= (4,0)

X-Intercept(s)= X=4




7. f(X)=3x*-12x+17
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Standard form:

Vertex= (2,5)

X-Intercept(s)=

f(x)=3(x-2)*+5

none
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